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The ﬁgures in the margin indicate full marks

for the questions.
1. Fmd out the correct answer : © 1%6=6
(a) Who is' known as the father of Idealism ?.
() Hume _ (n) Aristotle

(il)Plato ~ (iv) Socrates
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©) Explam the theory of Dualism of Descart&s |

® Give an account of Spinoza’s view on
. attributes and modes.

(g) What is Pre-estabhsh hnrmony, accordmg to
" Leibnitz?

. (h) -What are the characteristics of Monads ?
Explam

(i) Write a short note on Humes causality,

4. Answer any two of the followiné questions :
' 10x2=20
(,) Explam and examine Plato’s Metaphysncal
v1ew

(ii) “Knowledge is not opinion”. — Explain and
examine the view after Plato.

(iii) Discuss the theory of Dualism as prowded
by Descartes.

5. Examine Plato’s doctrine. of Ideas. Summarise
‘ Aristotle’s argument against Plato’s theory of

Ideas. 4+10=14
- Or

What is cause according to Hume ? Explain and

examine causality after Hume. - 4+10=14
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